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TVC(cbch) (1,14,0) TVC(cbch) (1,14,1) TVC(cbch) (1,14,2) TVC(cbch) (1,14,3)

T, (3ze+U9 / 25 AT 1 nuiz.ssve+u9 / 25 X~ 1 iz po4e+U9 / 25 A7 1 nuiz,oo5e+U9 / 25
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- Pl -36.75+ 0.00 - p1 -38.12+ 0.00 [ T= pl -37.29 + 0.00 - pl -36.04 + 0.00
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2000 4 20007 ] 2000~ 1 2000 4
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-1 nu, fobe+u9 / 25
L - pO 4462+ 0.0
- p1 -35.32:+ 0.00

TP delay [ns]
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£ S - pO 4496+ 0.0
> p1 -37.44 £ 0.00
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e - po 4526+ 0.0
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TP delay [ns]
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T/ e+09 /25
£ - pO 4447+ 0.0
) p1 -34.8+ 0.0
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_ - pO 4514+ 0.0
- -35.82:+ 0.00

TP delay [ns]
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T nuzbole+u9 / 25
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3000

Trnuiz4r1e+09 /25
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po 4539+ 0.0

e, -
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© 1. 4z29e+09 / 25
.__ - po 4496+ 0.0
[ = pl -36.44 + 0.00
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- p1 -37.29+ 0.00
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[ - po 2498+ 0.0
pl -35.39+ 0.00
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TVC(cbch) (3, 11 8
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©1nuiz414e+09 / 25
4478+ 0.0
-36.07 + 0.00
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- C =27.73 [ps/ch]=

TP delay
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4478+ 0.0
-35.73+ 0.00
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-34.64 + 0.00
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- nu 338e+U9 / 25
4402+ 0.0
-34.13+ 0.00
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TP delay

TVCED =3, 11, 11

[ns]

T nuig rzze+u9 / 25
4463+ 0.0
-35.25+ 0.00

TP delay
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T nuznsze+u9 / 25
4429+ 0.0
-34.48 + 0.00

TP delay
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FC=27.30 [ps/chPy 1

- 1rnuz zoge+u9 / 25
4515+ 0.0
-36.63+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (4 0,8

1z paze+U9 / 25
L - pO 4553+ 0.0
" p1 -37.49 + 0.00

TP delay [ns]
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L. - po 4464+ 0.0
p1 -34.8+ 0.0
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po 4524+ 0.0
. pL -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

-1 nu.431e+09 / 25
4562+ 0.0
-37.63 % 0.00

TP delay [ns]

TVC(c,b ch) (4 0,9

T nuiz 735e+U9 / 25
4511+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(c,b Ch) (4, O 13

T inuzz1e+u9 /25
4493+ 0.0
-35.29+ 0.00
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TP delay [ns]
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-1 nu b34e+U9 / 25

L. - pO 4493+ 0.0
-

- p1 -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (4, O

ERALEVX bu4e+u9 125
4493+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (4, O 15

T inuiz r43e+U9 / 25
4470 0.0
-34.95+ 0.00

TP delay [ns]
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woor C = 28.42 [ps/ch] ==, 7
| L
50 00
TP delay [ns]
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3000

2000

1000

L n n n n 1 "
50 100

TP delay [ns]
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TP delay [ns]
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4000 fom - "0

-1 Uz 4o09e+09 / 25
4475+ 0.0
-35.53 + 0.00
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-1 nuiz.a9ve+u9 / 25
4446+ 0.0
-34.01+ 0.00
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50 100
TP delay [ns]
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% e

TVC(cbch) (4,1,2)

A~ 11z, byve+U9 / 25
4540+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (41,6

4000

-1 nung gsze+u9 / 25
L\ - pO 4435+ 0.0
= p1 -33.01+ 0.00

3000
2000:‘ _:
wnol C = 30.29 [ps/ch] =
C 5(') 10'0
TP delay [ns]

TVC(eb.eh)=(4, 1, 10

1,10)
11z 398e+U9 / 25
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3 ™ pl -34.56 + 0.00
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TP delay [ns]
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-1 nu Zoge+u9 / 25
k. - pO 4423+ 0.0
A p1 -32.58+ 0.00

- C =30.69 [ps/ch] "=._ 1
% i
TP delay [ns]

TVC(c,b ch) (4, l

1)
- nuiz bzse+u9 / 25
4464 £ 0.0
-35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (4,1,15
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4pe+u9 / 25
4446+ 0.0
-34.11+ 0.00

[ C=29.32 [ps/ch] =, ]
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TP delay [ns]
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TP delay [ns]

TVC(cbch) (4,24

iUz 2e+u9 /25
- - po 4528+ 0.0
— pl -37.18 + 0.00

TP delay [ns]

TVC(ebch)=(4,2,8

©1nuz.430e+09 / 25
il - pO 4468+ 0.0
- pl -35.59 + 0.00

TP delay [ns]
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© 1z psse+u9 / 25
L - po 4458+ 0.0
& p1 -36.31# 0.00
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-1 nu baze+u9 / 25
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-36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (42,9

T nuiz.p/ve+u9 / 25
L - pO 4486+ 0.0
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TP delay [ns]
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TP delay [ns]
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2000

1000

TVC(cbch) (4,3,1)

L po
- pl

A~ 1z 409e+09 / 25
4475+ 0.0
-36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (4,3,5

X~ g,

L PO

e\ pl

132e+U9 /25
4541+ 0.0
-37.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

T inuzy3e+u9 / 25
4479+ 0.0
-35.92 + 0.00

e, - pO
A o
r C=27.84[ps/chT-

TP delay [ns]

TVC(c,b Ch) (4,3,13

X~ 1 nuiz,

133e+U9 / 25
4474+ 0.0
-36.53+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (4,3,2)

1000

L po

A~ 11z oyoe+U9 / 25
4533+ 0.0
-37.42+ 0.00

1000

[ ) o
FC=26.72 [ps/chN 1
1 1 -
50 100
TP delay [ns]
TVC(cbch) (4.3,6)
T nugse+U9 / 25
-__ . pO 4566:‘
: - pl -37.78 + 0.00

TP delay

TVC(eb,oh)=(4, 3, 10

1000

0

L DO
& pL

[ns]

1 nuzbzge+09 / 25
4482+ 0.0
-36.73+ 0.00

TP delay

TVC(cbch) (4,3 14

1000

[ns]

3,14 )
11y, 1u4e+09 / 25
- - pD 4488+ 0.0
3 - pl -36.63+ 0.00
FC =27.30 [pS/CAE 1
1 1 -.'
50 100
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3)

L PO

- pL

AT 1 nuiz,Byse+U9 / 25
4536+ 0.0
-35.71+ 0.00

1 1
50 100

TP delay

TVC(c,b ch) (4 3,7

L PO
A pl

[ns]

-1 nug bzze+u9 / 25
4482+ 0.0
-35.98+ 0.00

TP delay

TVC(c,b ch) (4, 3

pL

[ns]

EREALER amewg 125
4475+ 0.0
-35.54 + 0.00

TP delay

TVC(c,b ch) (4, 3 15

- - pO

- p1

[ns]

-1 nuiz.zyze+u9 / 25
4456+ 0.0
-36.8 + 0.0

TP delay

[ns]



TVC(cbch)(440) TVC(cbch)(44l) TVC(cbch)(442) TVC(cbch)(443)
A” 1z 510e+U9 / 25 “ i zbse+u9 / 25 A”1nuz40e+09 / 25 A~ 1z yise+U9 / 25
4000 b - PO 4490+ 0.0 4000 b - po 4489+ 0.0 4000 b, - po 4504+ 0.0 4000 ey - po 4561+ 0.0
' pl -36.47 £ 0.00 T pl -36.87 + 0.00 [ ™= pl -36.46 £ 0.00 ) pl -37.58:+ 0.00
3000 — 3000 - N 3000} ] 3000 B
2000 4 2000 [ ] 2000 3 2000 B
1000 B wofF- C =27.13 [ps/cﬁT—_ T 1000: —: 1000 ]
50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4.4,4) TVC(cbch) (4.4,5) TVC(cbch) (4.4,6) TVC(cbch) (4.4,7)
- i 528e+09 / 25 - 1, 184e+u9 / 25 -1 Zape+09 / 25 - Inu.438e+09 / 25
4000 4516+ 0.0 4000 4596+ 0.0 4000 E 4601+ 0.0 2000 b - pO 4530+ 0.0
-37.7+ 0.0 -38.76 + 0.00 3 -38.7+ 0.0 ) pL -37.48+ 0.00
3000 N 3000 - 3000 n 3000 - -
2000 N 2000 B 2000 3 2000 [ -

1000 - 1000

_: 100 C = 26.68 [pS/CFTT-_ ]

1 1000

0 =% i o E o 0 % T 0 o T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4,4,8) TVC(cbch) (4,4,9) TVC(cbch) (4,4,10) TVC(cbch) (4,4,11)

Trnuizz(e+09 /25 -1 nuiz.b4ye+u9 / 25 1 nuiLg4se+U9 / 25 -1 nuiz buse+u9 / 25
4000 b - pO 4549+ 0.0 4000 [ - pO 4481+ 0.0 4000 fmsm; - DO 4452+ 0.0 4000 [amn) - p0 4492+ 0.0
- pl -38.59 + 0.00 pl -35.76 + 0.00 [ pl -35.66 + 0.00 - pl -36.85+ 0.00

3000 -1 3000 - -1 3000 -— —- 3000 -

2000 -1 2000 1 2000 :_ _: 2000 .

1 wof C = 27.97 [ps/ch] 1 wnof C = 28.04 [ps/ch

1000 — 1000 4
0 0 e 100 . DL- EY 00 = 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(44l ) TVC(cbch)(4413) TVC(cbch)(44l ) TVC(cbch)(4415)
Tz, s83e+U9 / 25 T 1z 3a8e+09 / 25 ~ 1 nuz,0uoe+u9 / 25 T g zane+09 / 25
4000 fuen, - pO 4431+ 0.0 4000 4433+ 0.0 4000 4415+ 0.0 4000 4458+ 0.0
-, pl -34.29 + 0.00 -34.81+ 0.00 [ 342+ 0.0 -35.05 + 0.00

3000 1 3000 1 3000 1 3000

2000 . 2000 -1 2000 E 2000

1000 1 1000

N 1000 & 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0

A1z sze+U9 /25
- - po 4542+ 0.0
— pl -37.34+ 0.00

TP delay [ns]

TVC(cbch) (4,54

- Uiz, agse+u9 / 25
. - po 4508+ 0.0
' pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (4 5,8

T a5 ge+U9 / 25
4487+ 0.0
-36.9+ 0.0

0

TP delay [ns]

TVC(Cbch) (4, 5 12

© g, 1pe+u9 / 25
L - po 4424+ 0.0
- pl -34.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51

-/ re+u9 /25
pO 4561+ 0.0

- -
- pl -38.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

-1 nuz.yuze+u9 / 25
pO 4548+ 0.0

Fe... -
. p1 -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

-1 nuiz.oyoe+u9 / 25
Eed - pO 4486+ 0.0
" pl -36.38+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 5 13

T inuizus/e+u9 /25
4422+ 0.0
-34.22+ 0.00

TP delay [ns]

TVC(cbch) (4,5,2)

4000

2000

1000

A1z B3ze+U9 /25
- po 4545+ 0.0
.-\—_ pl -37.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

4000

2000

1000

-1 nuz byge+u9 / 25
L . pO 4530+ 0.0
P p1 -36.94 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(4, 5, 10

4000

2000

1000

0

©1nuzgg1e+U9 / 25
ik - po 4512+ 0.0
b an pl -36.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

4000

2000

1000

1z goze+U9 / 25
__- - pD 4510+ 0.0
Eoa p1 -35.63 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

AT 1 nuiz,540e+U9 / 25
po 4517+ 0.0
- Pl -36.43 0.00

TP delay [ns]

TVC(c,b ch) (4 57

= 1 nuz Seve+u9 / 25
po 4585+ 0.0
= - pl -37.69+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

EREALER au1e+u9 125
4482+ 0.0
-35.9 + 0.0

TP delay [ns]

TVC(c,b ch) (4, 5 15

T nuiz.usse+u9 / 25
4442+ 0.0
-34.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)

L PO

- pl

A g ule+U9 / 25
4579+ 0.0
-38.7+ 0.0

TP delay

TVC(cbch) (46,4

[ns]

- rnugbz4e+09 / 25
4524+ 0.0
-38.03 0.00

== - pO
) o1
I C =26.29 [ps/cha ]
5(') 100 =
TP delay [ns]
TVC(cbch) (4 6,8)
- nuz 388e+U9 / 25
. - pO 4517:‘
- -36.73+ 0.00
FC=27.23[ps/ch]) 1
- o
TP delay [ns]
TVC(cbch) (4, 6 12)
Tz oyre+u9 / 25
_ - po AAQZI‘
- pl -35.64+ 0.00
- C = 28.05 [ps/ch]-~ 7

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,1)

po

A™ 1 nuig, Lioe+u9 / 25
4577+ 0.0
-39.26 + 0.00

e pL

TP delay [ns]

TVC(c,b ch) (4 6,5

-1 nu.414e+09 / 25
4483+ 0.0
-37.62+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,9

L DO
- pL

-1 nuiz oyve+u9 / 25
4461% 0.0
-35.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 6 13

~ 1 nuiz.agse+u9 / 25
4469+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

0

4000
3000

2000

TVC(cbch) (4,6,2)

1000

po

— p1

AT, L/1e+09 /25
4589+ 0.0
-39.31+ 0.00

1000

TP delay [ns]
TVC(cbch) (4 6,6)
. -1 nuz.yuze+u9 / 25
L - pO 4540 0.0
F e p1 -37.83+ 0.00

TP delay [ns]

TVC(eb,ch)=(4, 6, 10

T z9ze+09/ 25
__- - po 4492+ 0.0
I " pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (4,6,14

1000

-1z 5s4e+09 / 25
4442+ 0.0
-35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

L PO

) pL

A1 nuig,uyve+u9 / 25
4571+ 0.0
-38.57 + 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

L pO
A p1

- nun 2.38e+09 / 25
4475+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 6

pO
pl

T, /U/e+u9/25
4489+ 0.0
-35.53+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, 6 15

-1 nuiz.0Zoe+u9 / 25
4461+ 0.0
-35.28 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,0)

A1, 1zze+09 /25
4479+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(cbch) (4,7,4

- 1wz 305e+09 / 25
L - po 4567+ 0.0
- pl -38.42+ 0.00

TP delay [ns]

TVC(ebeh)=(4,7,8

T~ rnuz54ze+09 / 25
LN - pO 4496+ 0.0
- pl -36.38 + 0.00

TP delay [ns]

TVC(Cbch) (4, 7 12

- 2.4zevu9 125
L - po 4498+ 0.0
- p1 -35.46+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1

X1, 75 (e+09 | 25
po 4551+ 0.0
) pL -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nu.4g1e+u9 / 25
4565+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(c,b ch) (4.7,9

-/ uz.dyse+u9 ] 25
[ - pO 4486+ 0.0
pL -35.81+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 7 13

T nuz s35e+U9 / 25
4496+ 0.0
-35.91+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (4,7,2)

K™ 1nu r40e+09 / 25
po 4550+ 0.0
oo pl -37.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (47,6

1000

-1z 4p5e+09 / 25
4520+ 0.0
-36.9+ 0.0

TP delay [ns]

TVC(ebeh)=(4, 7, 10

T, /r1e+09 /25
L - po 4496+ 0.0
i ) pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,7,14

T rnuzgo1e+09 / 25
4511+ 0.0
-35.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3

A7 1 nuz408e+U9 / 25
po 4555+ 0.0
- pl -37.49+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

-1 nu.493e+U9 / 25
£ - pO 4461+ 0.0
- pL -34.85+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (4, 7

1)
" nuzg1ye+u9 / 25
ik - pO 4493+ 0.0
',
) pl -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 7 15

T 1 nuiz.oyse+u9 / 25
4475+ 0.0
-34.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

A1, (53e+09 / 25
£ - po 4512+ 0.0
A pL -37.34+ 0.00

TP delay [ns]

TVC(cbch) (4,84

- rnug1ze+09 / 25
- - po 4525+ 0.0
— pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (4 8,8

Tz 3z1e+09 / 25
4419+ 0.0
-34.61+ 0.00

1
o 50 00

TP delay [ns]

TVC(cbch) (4,812

T rnuz5o1e+09 / 25
- - po 4428+ 0.0
& p1 -34.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

AT 1 nuzyzoe+u9 / 25

[ po 4521% 0.0
b, -

2 p1 -37.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

-1 nug 1z0e+u9 / 25
4542+ 0.0
-37.26 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4 8,9

~ 1 nuiz 34ze+09 / 25
L - pO 4426+ 0.0
p1 -34.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 8 13

T nui rbze+u9 / 25
4443+ 0.0
-35.09+ 0.00

TP delay [ns]

4000

2000

4000

2000

:
]
moo;-c 28.79 [ps/chi™,

L + e

4000

3000

2000

TVC(cbch) (4,8,2)

1000

TP delay [ns]

TVC(cbch) (4,86

1000

A~ 1, rsoe+U9 / 25
[ po 4537+ 0.0
F p1 -36.9+ 0.0

3000

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

-1 nuz bsze+u9 / 25
L - pO 4457+ 0.0
P e
o= pL -35.98+ 0.00

3000

Trnuzpr1e+U9 /25
___- - po 4466+ 0.0
o= p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (4,814

1000

- 1nug5lae+U9 / 25
£ - pD 4456+ 0.0
[ pl -35.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

AT nuiz, 1 39e+U9 / 25
po 4525+ 0.0
e Pl -37.20 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

-1 nu gloe+u9 / 25
£ - pO 4453+ 0.0
A p1 -35.50+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

AL sb=e+u9 125
L - pO 4446+ 0.0
p1 -34.34 + 0,00

TP delay [ns]

TVC(c,b ch) (4, 8 15

Tonanz./re+u9 /25
4447+ 0.0
-34.35+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,0

X~ 1 s 440e+09 / 25
po 4630+ 0.0
-\- - pl -37.63+ 0.00

TP delay [ns]

TVC(cbch) (49,4

-1z bzze+u9 / 25
L . pO 4534+ 0.0
e\ p1 -36.77:+ 0.00

TP delay [ns]

TVC(cbch) (4 9,8

Tz 3o/e+U9 / 25
L - pO 4444+ 0.0
- pl -34.59+ 0.00

TP delay [ns]

TVC(Cbch) (4, 9 12

T zgoe+u9/ 25
L - po 4470+ 0.0
pl -34.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,91

A1 (aze+U9 ] 25
po 4570+ 0.0
) pL -37.59 £ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

- Inu.a83e+U9 / 25

L. - pO 4517+ 0.0
=

- pl -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

-1 nuz 3o8e+u9 / 25
L - pO 4439+ 0.0
p1 -33.79+ 0.00

[ C = 29.60 [ps/ch] .,

TP delay [ns]

TVC(c,b Ch) (4, 9 13

Tinuz.p3/e+u9 /25
4484+ 0.0
-35.63+ 0.00

TP delay [ns]

4000

2000

4000
3000
2000

1000

:
:
wol ¢ = 30.55 [ps/ch] ==,

L- 5(') 1&0 =

4000

3000

2000

1000

TVC(cbch) (4,9,2)

1000

TP delay [ns]

TVC(cbch) (4,9,6

X~ 1wz 483e+09 / 25
ke - po 4542+ 0.0
[ pl -37.59+ 0.00

3000

- rnugbz9e+09 / 25
4477+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 9, 10

T nuz 338e+09 / 25
e - po 4430+ 0.0
: "um pl -32.73+ 0.00

TP delay [ns]

TVC(cbch) (4,9,14

~ 1z 5z8e+09 / 25
[ - pD 4450+ 0.0
F -, p1 -33.6+ 0.0

- C=29.76 [ps/ch] =._ ]

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3

AT 1nuz4z/e+U9 /25

- - po 4490+ 0.0
'oaea

= pl -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

- rnu 15e+U9 / 25
L - pO 2492+ 0.0
A p1 -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9

=g, 4,ée+ug 125
[ - pO 4464% 0.0
p1 -33.91+ 0.00

F C =29.49 [ps/ch] ]
-+ o
TP delay [ns]

TVC(c,b ch) (4, 9 15

-1 nu brae+u9 / 25
4487+ 0.0
-34.76 + 0.00

TP delay [ns]



TVC(CbCh) (4, 10 0)

4000

3000

2000

1000

T 144e+U5/25
- o pO 4219+ 0.1
p1 352+ 0.0

TP delay [ns]

TVC(Cbch) (4, 10 4

4000

3000

2000

1000

- rnu5ae+u9 /25
po 4505+ 0.0

= -
— pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (4,10,8

4000

3000

2000

1000

0

1 nuiz,yyge+U9 / 25
4459+ 0.0
-35.28 + 0.00

0

TP delay [ns]

TVC(Cbch) (4, 10 12

4000

3000

2000

1000

T rnug5z1e+09 / 25
- po 4463+ 0.0
= p1 -35.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuz,buse+u9 / 25
po 4496 + 0.0
e\ p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 10 5

-1 U ggbe+u9 / 25
4509+ 0.0
-35.26 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4,10,9

-1 nuiz rbze+u9 / 25
L - pO 4468+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 10 13

Tinug.41e+U9 /25
4495+ 0.0
-35.39+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (4,10,2)
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-34.9 + 0.0

TP delay [ns]

TVC(cbch) (5, 14 15

-1 nuiz.zuye+u9 / 25
L. - pO 4460+ 0.0
p1 -35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 15 0)

©rnuz.z40e+09 / 25
pO 4543+ 0.0
A p1 355+ 0.0

1
50 100

TP delay [ns]

TVC(Cbch) (5, 15 4

- 1uiz,693e+09 / 25

I pO 4547+ 0.0
- -

) p1 -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 8

T a5 roe+U9 / 25
R - pO 4545+ 0.0
A\ p1 -37.65+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12

T z1e+u9/ 25
pO 4512+ 0.0

v
= pl -35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5, 15 1)

-1 nui.bhre+u9 ] 25
pO 4549 + 0.0
2 pL -35.02:+ 0.00

- C = 28.56 [ps/ch] = ]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 15 5

-1 nu 4pe+09 / 25
4565+ 0.0
-37.85+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

-1 Uz 455e+09 / 25

L - pO 4473+ 0.0
v

- pl -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T nuzgle+u9 / 25
4523+ 0.0
-35.97+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (5,15,2)

1000

A1, rs1e+09 /25
po 4578+ 0.0
e p1 -36.96 + 0.00

TP delay [ns]

TVC(Cbch) (5, 15 6

1000

-1 Uz, 94ye+09 / 25
b . pO 4556+ 0.0
e pL -37.19+ 0.00

TP delay [ns]

TVC(eb.eh)=(5, 15, 10

1000

©nuizuzze+09 / 25
L - po 4468+ 0.0
-
b " pl -35.33+ 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

1000

- z.aderu9 /25
LS - pD 4486+ 0.0
E=) pl -35.42.+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT nuz,$33e+U9 / 25
po 4547+ 0.0
- pl -35.71+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 15 7

“nua /rge+u9 / 25
L\ - pO 4481+ 0.0
- p1 -35.61+ 0.00

TP delay [ns]

TVC(e.beh)=(5, 15, 11

-1 nuz.4z20e+09 / 25

L - pO 4482+ 0.0
v,

) pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

T nuizsse+u9 / 25
2 - pO 4490+ 0.0
- p1 -35.02+ 0.00

PR IR T
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0)

- p0

- pl

A 1nuzuz1e+U9 /25
4424+ 0.0
-34.83+ 0.00

TP delay [ns]

TVC(cbch) (60,4

T is/e+u9 /25
4449+ 0.0
-34.76 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6 0,8

©rnuzplze+U9 / 25
4490+ 0.0
-36.7 + 0.0

TP delay [ns]

TVC(cbch) (6,0,12

1z zove+u9 / 25
4505+ 0.0
-36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1)

L PO
- pL

A7 1 nuizboze+u9 / 25
4488+ 0.0
-36.38 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 U bbye+u9 / 25
4507+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

" inuz.z18e+u9 / 25
4502+ 0.0
-37.36 + 0.00

TP delay [ns]

TVC(c,b Ch) (6,0,13

X nanz

po
— p1

53e+u9 /25
4577+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,0,2)

1000

1000

A~ 1 nuig.4z4e+09 1 25
L. - po 4475+ 0.0
] b p1 -35.71+ 0.00
FC =28.00 [ps/ch 1
1 1 -
50 100
TP delay [ns]
TVC(cbch) (6 0,6)
“ 1 nubroe+u9 / 25
L. - pO 4537+ 0.0
F e p1 -36.68+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

RERLEX bz)oe+09/25
4000 o - DO 4446+ 0.0
[ - pl -35.23+ 0.00
3000 -— _-
2000 -— _-
100F C = 28.39 [ps/chf= ]
-
-
1 1
b 50 100

4000

3000
2000

1000

TP delay [ns]

TVC(cbch) (6,0,14

-1 nuizpzye+U9 / 25
4521+ 0.0
-35.93+ 0.00

P B R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3)

L PO
- pL

A7 1 nuizsuze+U9 / 25
4501+ 0.0
-36.38+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 0,7

L pU
- pL

-1 nu g14e+u9 / 25
4542+ 0.0
-35.64 + 0.00

50

1
100

TP delay [ns]

TVC(c,b ch) (6, O

Tz :me+u9/25
4450+ 0.0
-35+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, O 15

-1 nuiz.z0ve+u9 / 25
4490+ 0.0
-36.35+ 0.00

1
100

TP delay [ns]



TVC(cbch) (6.1,0)

4000

3000

2000

1000

Tonanzyse+u9 /25
[ - pO 4545+ 0.0
-\-n._ pl -37.98 0.00

TP delay [ns]

TVC(cbch) (6.1,4

4000

3000

2000

1000

- 1rnuz zoge+u9 / 25
£ - pO 4480+ 0.0
A\ p1 -35.18+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 18

4000

3000

2000

1000

T, 3oze+09 / 25

L. - pO 4433+ 0.0
v

- pl -34.43+ 0.00

0

1
50 00

TP delay [ns]

TVC(cbch) (61,12

4000

3000

2000

1000

Tz szoe+09 / 25
4426+ 0.0
-35.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuzyzoe+u9 / 25
L . po 4558+ 0.0
) pl -38.4+ 0.0

TP delay [ns]

TVC(c,b ch) (6 1,5

- 1nu343e+09 / 25
4464+ 0.0
-36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nuiz.b40e+u9 / 25
4450+ 0.0
-34.11 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

~inun zpbe+u9 / 25
4442+ 0.0
-35.1+ 0.0

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

1000

A1 nuguroe+U9 / 25
3 po 4611+ 0.0
o - p1 -39.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (61,6

1000

- nuz6u3e+u9 / 25
i . pO 4525+ 0.0
:-\—_ p1 -36.93+ 0.00

TP delay [ns]

TVE(EheN)=(6, 1, 10

© 1 nuz zove+u9 / 25
i - po 4483+ 0.0
[ e,
b o) pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (61,14

~ 1 nuiz.4z0e+09 / 25
£\ - pD 4411+ 0.0
== p1 -34.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

R 1 Ui suae+U9 [ 25
L . po 4552+ 0.0
o pL -38.32. 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu.493e+U9 / 25
£\ - pO 4446+ 0.0
A p1 -34.68+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, l

T aze+u9/25
L - pO 4488+ 0.0
1 p1 -34.61+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 1 15

Tinuzsr1e+u9 /25
4426+ 0.0
-35.31+ 0.00

TP delay [ns]



TVC(cbch) (6,2,0)

4000

3000

2000

1000

A1z oz1e+09 /25
po 4533+ 0.0
p1 -38.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (62,4

4000

3000

2000

1000

- iz, 614e+09 / 25
- pO 4541 0.0
[ p1 -36.74 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 2,8

4000

3000

2000

1000

1 nuz.pgye+u9 / 25
L - pO 4532+ 0.0
" pl -35.65+ 0.00

0

1
50 00

TP delay [ns]

TVC(Cbch) (6, 2 12

4000

3000

2000

1000

T rnuiz411e+09 /25
Y - po 4423+ 0.0
- p1 -34.34+ 0.00

L n n n n 1 "
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

AT 1 nuz.Zoe+u9 / 25

L - po 4513+ 0.0
-

A p1 -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

~1nuz.41ze+09 / 25
4534+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 2,9

T inu.rg/e+u9 / 25

L - pO 4518+ 0.0
v

- pl -36.34 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

1 nuiz.qp0e+U9 / 25
L. - pO 4473+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

X~ 1z 45/e+09 /25
po 4516+ 0.0
e -
F ' pl -36.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (62,6

1000

-z brye+u9 / 25
[ pO 4622+ 0.0
[ - pl -37.11+ 0.00

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

- C =25.82 [ps/ich™ 1

T rnuzz33e+09 / 25
po 4719+ 0.0
p1 -38.73+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,2 14

1 nuiz.4uve+09 / 25
L - pD 4468+ 0.0
b p1 -35.1+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

AT 1 nuzbb/e+u9 / 25
po 4551+ 0.0
— pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nuz.4yse+09 / 25

o
L. - p 4495+ 0.0
A p1 -35.94 + 0.00

TP delay [ns]

TVC(eheh)=(6, 2,

T, /b/e+U9/25
b - pO 4512+ 0.0
- pl -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

T inuiz.sy/e+u9/ 25
Ee - po 4467+ 0.0
- p1 -35.29 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

A~ 1 nuig, rsae+u9 / 25
po 4549% 0.0

P e -
N p1 -37.65+ 0.00

TP delay [ns]

TVC(cbch) (63,4

-z, a35e+09 / 25
ke - pO 4545+ 0.0
' p1 -38.26 + 0.00

TP delay [ns]

TVC(cbch) (6 3,8

~rnuzbu1e+U9 / 25
L - pO 4547+ 0.0
- pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (6,312

1z, (o5e+09 / 25
- po 4486+ 0.0
- pl -35.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1 nuizbzoe+u9 / 25
po 4535+ 0.0
o pl -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 a2 yg3e+u9 / 25
4604+ 0.0
-37.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

-1 nuiz.puse+u9 / 25
4505+ 0.0
-35.08 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

1 nuiz vooe+u9 / 25
£\ - pO 4467+ 0.0
o p1 -34.74+ 0.00

PR RS T T T
50 100

TP delay [ns]

4000

2000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (6,3,2)

1000

X~ 1wz 4o9e+09 / 25
po 4528+ 0.0
B Pl -37.52% 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

1000

Tz, 735e+09 / 25
o
__ . p 4586+ 0.0
[ p1 -37.02 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 3, 10

T nuz 38 e+09 / 25

L - po 4498+ 0.0
v,

- ) pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

1000

T a5y /e+U9 /25
.\ - pD 4464+ 0.0
: - pl -35.68 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1 nuzn43e+U9 / 25
po 4546 + 0.0
o pl -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

S rnuan znhe+u9 [ 25

L - pO 2488+ 0.0
-

- p1 -35.00+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

AR bz‘Je+U9 125
4485+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

Tinuz.r3/e+u9 /25
4497+ 0.0
-35.91+ 0.00

TP delay [ns]



TVC(cbch)(640 TVC(cbch)(641 TVC(cbch)(642) TVC(cbch)(643

A1, 2ue+09 125 LSRR )uefug 125 A1z bse+U9 / 25 LA u)tweﬂ)g 125
4000 fme - PO 4506+ 0.0 4000 e - PO 4517+ 0.0 4000 [ - po 4503+ 0.0 2000 [ - PO 4553+ 0.0
- pl -36.73+ 0.00 ) pl -36.71+ 0.00 : u pl -36.83+ 0.00 ) pl -36.66 + 0.00
3000 -1 3000 [~ - 3000 - . 3000 [~ N
2000 B 2000 - - 2000 N 2000 [~ B
1000 7 wok C = 27.24 [ps/ch]™ woor C = 27.15 [ps/chl=y wool C = 27.28 [ps/ch]™
50 100 S(I) 10‘0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.4,4) TVC(cbch) (6.4,5) TVC(cbch) (6.4,6) TVC(cbch) (6.4,7)
-3 8e+09 / 25 - I 638e+U9 / 25 - i, {Ube+V9 / 25 - 1nu.4y1e+09 / 25
4000 - pO 4460+ 0.0 4000 4496 £ 0.0 4000 4516+ 0.0 4000 [y - pO 4475+ 0.0
. pl -34.52+ 0.00 -35.53+ 0.00 I -36.2+ 0.0 " pl -35.19+ 0.00

- 3000

- 3000

3000 -1 3000

2000 - 2000 - 2000 - 2000

1000 - 1000 & 1000 : —: 1000 -
1 1 1 - E 1 1 - e 1
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 4,8 TVC(cbch) (6 4, TVC(cbch) (6, 4 10 TVC(c, bch) (6, 4

T, z)éae-*ue 125 S z)/£E+U9 125 T, Aa)ae+09/25 ERALEVX b‘J)/eﬂJg 125
4000 4474+ 0.0 4000 4472 0.0 4000 —_\_ - DO 4459+ 0.0 4000 uem - p0 4460+ 0.0
-36.1+ 0.0 -34.96+ 0.00 [ pl -34.28+ 0.00 - pL -33.17: 0.00
3000 1 3000 1 a000 |- 3 3000 - 1
2000 B 2000 T 2000 ] 2000 ]
] ] wor C = 29.17 [ps/ch] =, 1 wor C = 30.15 [ps/ch] ™. 1
1 1 - 1 1 - E 1 1 -- L 1 -
0 50 100 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (64,1 TVC(C, bch) (64,13 TVC(cbch) (64,14 TVC(C, bch) (64,15

AL us)Je+09 125 T g, :y)::ewg 125 AL 12464-09 125 T rnug, u):eﬂ)g 125
4000 [ N - pO 4425+ 0.0 4000 e\ - pO 4456+ 0.0 4000 e - PD 4481+ 0.0 4000 44513 0.0
- p1 -33.28+ 0.00 - p1 -34.32+ 0.00 P pl -33.46 + 0.00 -33.95+ 0.00

3000 ] 3000 - 3000 ] 3000 q

2000 B 2000 1 2000 ] 2000 B

[ ] =)
L i 1000 - L a 1000 [ = - B
w0l C = 30.05 [ps/ch] - c 29.89 [ps/ch] - C =29.46 [ps/ch] =_
| - 1 | =] 1 1 -
L el T L o L e

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1wz 49e+09 / 25
L - po 4531+ 0.0
) pL -36.74  0.00

TP delay [ns]

TVC(cbch) (65,4

- rnug 18ze+09 / 25
4474+ 0.0
-34.86 + 0.00

[ C =28.69 [ps/ch] ™, 7

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

1 nuz5o4e+09 / 25
L - pO 4544+ 0.0
' pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (65,12

1z, 159e+U9 / 25
Y - po 4445+ 0.0
- p1 -35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1)

A™ 1z 113e+u9 /25

b - po 4495+ 0.0
-

- pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- 1nu 1yze+u9 / 25
4468+ 0.0
-34.37 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 59

~inun 2.a9e+u9 / 25
4466+ 0.0
-34.99 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tinuiz1r3e+u9 /25
e - pO 4473+ 0.0
o) p1 -35.55+ 0.00

TP delay [ns]

4000

3000

2000

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (6,5,2)

1000

X~ 1wz 5ase+U9 / 25
po 4584+ 0.0
— pl -37.66 + 0.00

TP delay [ns]

TVC(cbch) (6,56

-1 nuz,045e+09 / 25
___ . pO 4492+ 0.0
[ p1 -34.84+ 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

T rnubse+U9 / 25
____ - po 4490+ 0.0
i - pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

1000

Tz, ru1e+U9 / 25
pD 4483+ 0.0

v
- pl -34.97 + 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiz,usse+u9 / 25
- - po 4534+ 0.0
p1 -36.11 + 0.00

[ C=27.69[ps/ch] =, 1

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

- 1 3o2e+09 25

L. - pO 4457+ 0.0
"

- pl -34.77 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 5

AL smewg 125

L - pO 4457+ 0.0
e,

) p1 -34.91 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 5 15

- 1 iz s8ae+U9 | 25
L - pO 4464+ 0.0
pL -35.4 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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